# Dividing Money (A)

Calculate each quotient.

1. 
$$55 ) \$825.00$$

3. 
$$19 ) $1143.80$$

4. 
$$57 ) \$2177.40$$

6. 
$$12 \overline{)} \$465.60$$

9. 
$$12 \overline{)} \$912.00$$

 $^{10}$ . If 38 identical lanterns cost \$2394.00, how much did each lantern cost?

#### Dividing Money (A) Answers

Calculate each quotient.

1. 
$$\begin{array}{c} \$ \ 15.00 \\ \hline ) \ \$825.00 \\ \hline -\$550.00 \\ \hline \$275.00 \\ \hline -\$275.00 \\ \hline \$0.00 \\ \end{array}$$

$$\begin{array}{c} \$ \ 28.60 \\ \hline 8. \ 29 \ ) \ \$829.40 \\ -\$580.00 \\ \hline \$249.40 \\ -\$232.00 \\ \hline \$17.40 \\ -\$17.40 \\ \hline \$0.00 \\ \end{array}$$

10. If 38 identical lanterns cost \$2394.00, how much did each lantern cost?\$63.00

# Dividing Money (B)

Calculate each quotient.

1. 
$$60 \overline{)} \$756.00$$

2. 
$$72 ) $4550.40$$

3. 
$$51 \overline{)} \$2040.00$$

4. 
$$62 ) $5654.40$$

6. 
$$60 \overline{)} \$948.00$$

8. 
$$62 \overline{)} \$2666.00$$

9. 
$$16 \overline{)} \$912.00$$

 $^{10\cdot}$  If 98 identical backpacks cost \$9290.40, how much did each backpack cost?

#### Dividing Money (B) Answers

Calculate each quotient.

 3. 51 \( \frac{\\$40.00}{\} \) \( \\$2040.00 \) \( \frac{-\\$2040.00}{\} \) \( \\$0.00 \)

 5.  $\frac{\$ 20.00}{) \$1020.00}$  $\frac{-\$1020.00}{\$0.00}$  6. \( \begin{array}{c} \begin{array}{c}

 $^{10.}$  If 98 identical backpacks cost \$9290.40, how much did each backpack cost? \$94.80

# Dividing Money (C)

Calculate each quotient.

1. 
$$88 ) $6459.20$$

2. 
$$53 ) \$3031.60$$

3. 
$$23 ) \$2033.20$$

4. 
$$22 ) $506.00$$

8. 
$$75 ) $5505.00$$

<sup>10.</sup> If 47 identical toy robots cost \$2613.20, how much did each toy robot cost?

#### Dividing Money (C) Answers

Calculate each quotient.

$$\begin{array}{c} \$57.20 \\ 2. \\ 53 \hline{) \$3031.60} \\ -\$2650.00 \\ \hline \$381.60 \\ -\$371.00 \\ \hline \$10.60 \\ -\$10.60 \\ \hline \$0.00 \\ \end{array}$$

9. 
$$28 \frac{\$41.00}{\$1148.00} = -\$1120.00 = -\$28.00 = -\$28.00 = \$0.00$$

10. If 47 identical toy robots cost \$2613.20, how much did each toy robot cost? \$55.60

# Dividing Money (D)

Calculate each quotient.

1. 
$$33 \overline{)} \$495.00$$

3. 
$$65 \overline{)} \$1495.00$$

6. 
$$57 ) \$3135.00$$

7. 
$$56 ) \$3740.80$$

8. 
$$77 ) $4235.00$$

9. 
$$17 \overline{)} \$1020.00$$

 $^{10.}\,$  If 69 identical teddy bears cost \$6610.20, how much did each teddy bear cost?

#### Dividing Money (D) Answers

Calculate each quotient.

$$\begin{array}{c} \$ 71.80 \\ \hline 5. & 87 \ ) \$ 6246.60 \\ \hline -\$ 6090.00 \\ \hline \$ 156.60 \\ \hline -\$ 87.00 \\ \hline \$ 69.60 \\ \hline -\$ 69.60 \\ \hline \$ 0.00 \\ \end{array}$$

9. 
$$17 \frac{\$ 60.00}{) \$1020.00}$$
 $-\$1020.00$ 
 $\$0.00$ 

<sup>10.</sup> If 69 identical teddy bears cost \$6610.20, how much did each teddy bear cost? \$95.80

# Dividing Money (E)

Calculate each quotient.

1. 53 ) \$1579.40

2. 30 ) \$1848.00

3. 47 ) \$4577.80

4. 40 ) \$1784.00

5. 85 <del>)</del> \$5287.00

6. 55 ) \$1320.00

7. 70 ) \$6258.00

8. 12 ) \$864.00

9.  $71 \overline{)} \$4700.20$ 

 $^{10.}\,$  If 87 identical meals cost \$3514.80, how much did each meal cost?

#### Dividing Money (E) Answers

Calculate each quotient.

1.  $\begin{array}{r} & \begin{array}{r} \$ \ 29.80 \\ \hline ) \ \$1579.40 \\ -\$1060.00 \\ \hline \$519.40 \\ -\$477.00 \\ \hline \$42.40 \\ -\$42.40 \\ \hline \$0.00 \end{array}$ 

 $\begin{array}{c} \$ 61.60 \\ 2. & 30 \ ) \$1848.00 \\ -\$1800.00 \\ \hline \$48.00 \\ -\$30.00 \\ \hline \$18.00 \\ -\$18.00 \\ \hline \$0.00 \end{array}$ 

 $\begin{array}{c} & & & & & & \\ & & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & &$ 

9.  $71 \frac{\$ 66.20}{\$ 4700.20} \\ -\$ 4260.00 \\ -\$ 440.20 \\ -\$ 426.00 \\ \hline \$ 14.20 \\ -\$ 14.20 \\ \$ 0.00$ 

<sup>10.</sup> If 87 identical meals cost \$3514.80, how much did each meal cost? \$40.40

# Dividing Money (F)

Calculate each quotient.

3. 
$$74 ) \$2530.80$$

4. 
$$46 ) \$2419.60$$

6. 
$$38 ) \$3245.20$$

9. 
$$44 ) $3370.40$$

<sup>10</sup>. If 24 identical figurines cost \$566.40, how much did each figurine cost?

#### Dividing Money (F) Answers

Calculate each quotient.

1. 
$$\begin{array}{c} \$83.20 \\ \hline (86) \$7155.20 \\ -\$6880.00 \\ \hline \$275.20 \\ -\$258.00 \\ \hline \$17.20 \\ -\$17.20 \\ \hline \$0.00 \\ \end{array}$$

$$\begin{array}{c} \$82.20 \\ 26 \ ) \$2137.20 \\ -\$2080.00 \\ \hline \$57.20 \\ -\$52.00 \\ \hline \$5.20 \\ -\$5.20 \\ \hline \$0.00 \\ \end{array}$$

$$4. \qquad 46 \begin{tabular}{c} \$ \ 52.60 \\ \hline (4. ) \ \$2419.60 \\ -\$2300.00 \\ \hline \$119.60 \\ -\$92.00 \\ \hline \$27.60 \\ -\$27.60 \\ \hline \$0.00 \\ \hline \end{tabular}$$

$$\begin{array}{c} \$85.40 \\ \hline 38)\$3245.20 \\ -\$3040.00 \\ \hline \$205.20 \\ -\$190.00 \\ \hline \$15.20 \\ -\$15.20 \\ \hline \$0.00 \\ \end{array}$$

10. If 24 identical figurines cost \$566.40, how much did each figurine cost? \$23.60

# Dividing Money (G)

Calculate each quotient.

3. 
$$55 ) \$3553.00$$

6. 
$$71 ) \$3777.20$$

8. 
$$36 \overline{)} \$2484.00$$

9. 
$$12 \overline{) \$595.20}$$

 $^{10\cdot}$  If 59 identical video games cost \$5380.80, how much did each video game cost?

#### Dividing Money (G) Answers

Calculate each quotient.

1. 
$$\begin{array}{c} \$87.40 \\ 95 \ ) \$8303.00 \\ -\$7600.00 \\ \hline \$703.00 \\ -\$665.00 \\ \hline \$38.00 \\ -\$38.00 \\ \hline \$0.00 \end{array}$$

$$\begin{array}{c} \$ \ 53.20 \\ \hline 6. \ 71 \ ) \$3777.20 \\ -\$3550.00 \\ \hline \$227.20 \\ -\$213.00 \\ \hline \$14.20 \\ -\$14.20 \\ \hline \$0.00 \\ \end{array}$$

<sup>10.</sup> If 59 identical video games cost \$5380.80, how much did each video game cost? \$91.20

# Dividing Money (H)

Calculate each quotient.

1. 15 ) \$1353.00

2. 66 ) \$3405.60

3. 46) \$552.00

4. 55 <u>) \$4246.00</u>

5. 49 <del>)</del> \$3841.60

6. 16 ) \$259.20

7. 25 ) \$560.00

8.  $63 \overline{)} \$4208.40$ 

9.  $10 \overline{) \$182.00}$ 

 $^{10}$ . If 24 identical books cost \$1828.80, how much did each book cost?

#### Dividing Money (H) Answers

Calculate each quotient.

<sup>10.</sup> If 24 identical books cost \$1828.80, how much did each book cost? \$76.20

# Dividing Money (I)

Calculate each quotient.

1. 
$$37)$$
 \$1198.80

2. 
$$56 ) \$3035.20$$

3. 
$$90 ) $1188.00$$

6. 
$$61 ) \$683.20$$

7. 
$$37 ) $1613.20$$

8. 
$$11 \overline{)} \$574.20$$

<sup>10.</sup> If 37 identical movies cost \$2619.60, how much did each movie cost?

#### Dividing Money (I) Answers

Calculate each quotient.

9. 
$$81 \frac{$62.00}{)$5022.00} = \frac{-$4860.00}{$162.00} = \frac{-$162.00}{$0.00}$$

10. If 37 identical movies cost \$2619.60, how much did each movie cost?\$70.80

8.

# Dividing Money (J)

Calculate each quotient.

3. 
$$29 \overline{) \$858.40}$$

6. 
$$95 ) \$3344.00$$

8. 
$$69 \overline{)} \$2332.20$$

9. 
$$40 ) $2696.00$$

 $^{10}$ . If 46 identical shirts cost \$4342.40, how much did each shirt cost?

#### Dividing Money (J) Answers

Calculate each quotient.

$$\begin{array}{c} \$ \ 35.20 \\ \hline 95 \ ) \$ 3344.00 \\ -\$ 2850.00 \\ \hline \$ 494.00 \\ -\$ 475.00 \\ \hline \$ 19.00 \\ -\$ 19.00 \\ \hline \$ 0.00 \\ \end{array}$$

<sup>10.</sup> If 46 identical shirts cost \$4342.40, how much did each shirt cost? \$94.40